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1 Introduction
WF on updated simulation assumption for case 1 and case 2 was agreed in [1]. This contribution provides updated co-existence simulation results for case 1 accordingly.
2 Discussion

2.1 Power control
Updated co-existence simulation results for case 1 of V2V UE to LTE BS with V2V power control were provided in Figure 1and Figure 2. The throughput loss for legacy LTE Base station is the throughput with V2V aggressor compared with the throughput without any aggressor:
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Figure 1 190 Byte packet size in Urban scenario with 15 or 60 km/h, and different LTE power control setting
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Figure 2 300 Byte packet size in Urban scenario with 15 or 60 km/h, and different LTE power control setting
From the above simulation results, some observations can be derived as below:
· For minimum output power = -10dBm & 0dBm, neglectable impact is observed to victim LTE BS.
· For minimum output power = 10dBm, unacceptable degradation (>5% throughput loss) is still observed to victim LTE BS for V2V speed of 15km/h.

2.2 Activation rate
Updated co-existence simulation results for case 1 of V2V UE to LTE BS with different activation rate were provided in Figure 1and Figure 2. The throughput loss for legacy LTE Base station is the throughput with V2V aggressor compared with the throughput without any aggressor:
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Figure 1 190 Byte packet size in Urban scenario with 15 or 60 km/h, and different activation rate
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Figure 2 300 Byte packet size in Urban scenario with 15 or 60 km/h, and different activation rate
From the above simulation results, some observations can be derived as below:
· For LTE with PC set2, unacceptable degradation (>5% throughput loss) is still observed to victim LTE BS for edge throughput.

Conclusion
This contribution provides co-existence simulation results for V2V to LTE co-existence scenario with updated simulation assumption in [1]. And from the results, conclusions can be made as:

For V2V with power control mechanism,
· For minimum output power = -10dBm & 0dBm, neglectable impact is observed to victim LTE BS.

· For minimum output power = 10dBm, unacceptable degradation (>5% throughput loss) is still observed to victim LTE BS for V2V speed of 15km/h.

For V2V different activation rate,
· For LTE with PC set2, unacceptable degradation (>5% throughput loss) is still observed to victim LTE BS for edge throughput.
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